Natme: Addition - missing number
4 + = 13 6 + = 13 3 4 = 7
8 + = 18 1 + = 6 1C + = 11
6 + = 12 8 +| [= 11 4+ |= 11
4 + = 13 2 +| |= 12 8+| |= 12
6 + = 13 9 + = 11 2 + = 6

Working Mathematically
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2) Susan has 16 marbles

There are 20 dots on the tile. How
many dots are covered?

altogether.

9 marbles are on the ground.

How many is she holding behind her back?

3) Greg needs 18 cards for a full set. He has 9. How many more cards

does he need?

D oe g@@ This fish tan

k can hold 15 fish. How many more

sq 3@ @e | fish can be added to the tank?
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